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 Math 7/8 Study Guide



      

Unit 8:  Linear Functions 

Knowledge and Understanding

1) Define slope and explain how to find slope from a graph.

2) What is a y-intercept and how do you write it as an ordered pair?

Proficiency of Skills

3) Find the equation of the line in slope intercept form given the points (-2, 6) and (-8, 5).
___________________
4) Determine the equation of the line from the graph. ____________________
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Application
5) A clothes designer manufactures 24 skirts every 6 minutes. What is the slope of the line and what does it represent?

_______________________________________________________________________________

_______________________________________________________________________________

6) The cost of lunch at the local zoo for one person costs $8, for two people costs $10, for three people costs $12, etc… Write an equation that models the price of lunch as a function of the number of people eating.

____________________________
7) Given: ∆JNL  with vertices J(–3,3), N(–3,–3), and L(5,–3); ∆KML with vertices K(1,0), M(1,–3), and L(5,–3).  Draw the triangles in the graph below and answer the questions.  [image: image2.jpg]



a) What can be said about the triangles? Explain.  
b) How can you use the triangles to explain the slope of the line?
8) The graph below shows Kevin’s workout on the stair machine in the local gym. If Stephen climbs 60 stairs per minute, who will climb more steps in an hour? 
_______________
9) Piper was on the Biggest Loser show. Her weight to begin was 300 lbs. He has been losing 6 
pounds a week. Write an equation to represent Piper’s weight loss. __________________

How many pounds will Piper have lost after 14 weeks?  __________

How much will Piper weigh after 14 weeks? __________
10) Given the information below, place the trucks in order, slowest to fastest. Then write their speeds. 
    __________ ,  _________,  _________, __________

Speeds: ________, _________, ________, ________
Truck A:   d = 55t 

Truck B: 

	Miles
	80
	120
	160
	200

	Hours
	2
	3
	4
	5


Truck C: Driving 50 MPH

Truck D:  
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Choose the correct answer.
11) Determine the equation of the line in slope-intercept form given the table: __________
	x
	y

	-2
	-4

	0
	4

	2
	12


a) y = 4x + 2
      b) y = 4x + 4
  c) y = 4x -2
            d) y = -3x + 6
12) Brooke and Khloe disagreed on the slope of the line below. Brooke said the slope was
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 and Khloe said it was
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.  Who is correct? ________
A. Brooke
B. Khloe
C. Both are correct.

D. Neither is correct.

13) Alexa has $30 saved and makes $10.50 per hour working. Determine the equation of the line to 
determine how much money Alexa would have working any number of hours. From this information, 

identify the y-intercept. _______

    a) 30
     b) 40.5

c) 50

           d) 9.5
14) Not Your Yellow Cab, a local cab company charges a base rate of $5 and $2 per mile.  Which equation shows the total cost of a ride in the taxi?  _________
a) y = 9x+3
     b) y = 3x+ 9
 c) y = 2x - 5

 d) y = 2x + 5
15)  If you graph the line y = 3, what type of slope would it have?  _______
a) positive
     b) negative
c) zero

d) undefined

16)  What is the equation of this line?  _______________
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a) y = 2x + 2
    b) y = 2x

c) y = 2

d) x = 1
17) Which equation represents the graph below?  _________________
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a) x + y = 3
b) 3x + y = 9

c) 2x – 3y = 9
d) -2x – y = 1
18) The table below shows the cost of oranges depending on its weight. If graphed, what 
would the slope of the line be (unit rate)?  ____________
	Pounds (x)
	Cost (y)

	10
	$5.00

	20
	$7.50

	30
	$10.00

	40
	$12.50

	50
	$15.00


A. $0.50/pound



B. $2/pound




C.   $.25/pound
D.  $5/pound
19) In a recent marathon, Stacey averaged 4 miles every 35 minutes.  How would you express 
this as a rate of change (slope)? (time is on the x axis)  ____________
A. 4
B. 
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C. 35

D. 
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Performance Task

20) The entrance fee at a Lake Lanier consists of a vehicle charge plus an additional charge for each person in the vehicle, as shown on the graph. Graph the following points and answer the following questions: {(0,1), (1,2), (2,3), (4,5), (6,7), (8,9)}
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a) What is the slope of the line joining the points on this graph? 

b) What does the slope of this graph represent? 

c) How much will it cost for the vehicle (without any people)? How does the graph show this?

d) What is the equation of the line joining the points on the graph?

Name___________________


Date__________________








_1456305157.unknown

_1456305830.unknown

_1456305843.unknown

_1307356967.unknown

